EARAROBREBRT —5 XN—ZXBISH—F

202456825H (X)) 7EREEIH

mgy“vg'ﬁﬂu 1 YSR3% [ E | memm - | v oo s
[AE%) 1% :800,00H ~ 23%&:280,000H  337%&:160,000H . 43#&:120,000  ~ 5 7&:80,000 H
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- KIBEIE : -2-2- - SEBZ (BEE)
112l 10l PILFX LR i3 X 1.(4_9).5 2-2-2-1 | 38.8 1 (4_612) e
RYN/T50Y B:STAIY bR EvIUy RI7—L4
- R NOEESR— : -1-1- - AliEt (BEE)
20111 | T AR=AI b 54.0 1'(53(;'1 112 1394 ! (ﬁ; IVE;
RUTPIWAVINT N B:TT=ZUH—I FREKS
p ~ 3 | SHEKX 1:50.3 3-3-3-3 [39.5] — 3 489 | SEEZ (BEE)
3lg|12| MY ROD %.0 ) C1) | REEZE
RE—ZV B:SATUN—=K [SInEe]
< s < HEFRSE : -4-4- - SEEe (BEE)
47| g |-y rarzy 3| A% o7 IR P E s
RN/ T59Y B:FUIARTST EARES
— o K= : -11-9- - Bt (BEE)
518l FIHSEIINVF 4t 3 o 1] 1.(520).8 11-11-9-8 | 38.9 6 (43:20) B&Eﬂ;?ﬁ
RIZVTVE/ /T BFAFTHE—FR [z e ]
y < ZHE1E : -7-6- - HLEE (BEHE)
6 3| TA—YV 1Y 4 3 ) 1(75?:59 6-7-6-5 | 39.4 5 (4_332) i<l
RiXAY3vR—5— F:HUAHO0-X e &£5
S 4 3 | AL 1:51.1 9-9-10-9 [39.1| — 10 | 459 |®FPOE (BEE)
715]5 7IUAVE—K 56.0 (1172 (-q) |EE=E
RXAVRATERTwY 8:A—ILEXET e ]
W FITI5eig :51. -5-5- . - HESEX (BEHE)
8l5|6 PEUTYRL 3 3 = 1(15/12)2 5-5-5-7 | 39.9 9 (4_229) p
RiZwF—JO0—-U— B:NFFIE ESHIT7—L
» » BB : -8-8- - IR (BEE)
9 4| TU—RXEU—R 4 3 ks 1.(511).4 8-8-8-6 | 39.7 1 (43; A5
RINMVTSY BYTATAHILET st
< = LI : -10-11- - ROXX (BEE)
10 NEYELEPES T 4 3 o 1.(532).1 10-10-11-11| 39.8 7 (4+329) :ﬁ$§
R:5= BRIV H AR T T 7—L
~, = s, = =ETE : 67— - BIIB—A (RGE
1Pl 2| EYTI7TUDT 4 3N 1'(593)‘9 TeT ’ ?,389) T e
RFIPITRATVR 8:T7RAIHFU—-V KigHis
\ = 3 | BAMEE - - - - - - | ZHES (BERE)
=y 7|VY—ILA " 56.0 (B (=) |BKEL
R:L—IZZRSIL B hF/IT— 2R KB
@ 11— —®BIEfI
10—+— 1,10,12,9,6,3,2,4,5,8,11
20—F— 1,10,12,9,6,2,3,4,5,8,11
30—7— 1,10,12,9,6,3,2,4,11,5,8
43—F— 10,1,12,9,3,4,6,11,5,2,8
o ILRE
B B 10 260 JA R 1-10 280M4 % 5E 1-7 510M 3EE 1-10-12 1,390
7B B 10 120 10-12 220/ 5 & 1-10 1,010 3EH 10-1-12 6,330M
1 130 1-12 460 Ba 10-1 1,550
12 130

ABIC OV TRUTEREERRODDZE. THRIIZEL.




